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/ off/Action2

| :Switch_Lightrlon;

proctype Light(chan Switch_Light,Light_Door){
:_OFF; i :Switch_Lightloff;

I
| uderf

if
::Switch_Light?on -> i
Light_Doorlopen; e st
goto _ON; Jinit{
=:Switch_Light?off ->  chan Switch_Light = [0] of {mtype};
goto _OFF; i chan Light_Door = [0] of {mtype}; i
fi; irun Light= (Switch_Light,Light_Door);
run user(Switch_Light); ;
. ON i}
if - ¥
=:Switch_Light?on -> ;
goto _ON; i
:Switch_Light?off ->
Light_Doorlclose;
goto _OFF; [
fi; “proctypek

1
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_OFF;
if
:Switch_Light?on -> —
Light_DodfTopen; «—
goto _ON;
=Switch_Light?off ->
goto _OFF;
fi;
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mtype =(4 XY b1 A XY b2 - -}

proctype IRAEEIHRA = (BF v F L1, KEF v FAA1, - - )
HIHRRER R

it
PRI X FNIZARY M >
..}i*v*/w%ﬁ;/\‘y (¥
i

v proctype user(iF v R L1 WF ¥ FNH2, ¢ - ¢)
d

o
SBEF ¥ FNBIEA SV b
RAED o

if
::%-f-v?/wf{«\‘y l\;’. > it
BT ROVIEA < R

goto E%?ak&aﬁ sha chan F ¥ L #=[0] {mtype};

SN s run RASERSHRRA (17 114, BT )

fi; T
' }

}

od
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Starting tinit: with pid 0
spin: warning, "PS2.prom" is newer than PS2.prom.trail

Starting personA with pid 1

1: proc 0 (init) line 81°PS2.prom” (state 1) [(run personA(personA_event,personA_printer,personA_scanner)]
Starting personB with pid 2

2: proc 0 (init) line 82 "PS2.prom" (state 2) [(run personB(personB_event,personB._printer.personB_scannen))]
Starting printer with pid 3

3: proc 0 (init;) line 83 "PS2.prom" (state 3) [(run printer(personA_printer,personB_printer))]
Starting scanner with pid 4

4: proc 0 (init) line 84 *PS2.prom" (state 4) [(run scanner(personA_scanner,personB_scanner))]
Starting user with pid 5

5 proc 0 (init;) line 85 "PS2.prom" (state 5) [(run user(personA_event,personB_event))]

6: proc 5 (user) line 67 "PS2.prom” (state 1)  [personA_eventlstart]

7: proc 1 (personA) line 36 "PS2.prom" (state 1) [personA_event?start]

8: proc 5 (user) line 68 "PS2.prom” (state 2)  [personB_eventlstart]

9:_proc 2 (personB) line_52 "PS2.prom" (state 1) [personB_event?start]

T proc 2 (personB) ine prom” (state 2) [personB_scannerlgel]
11: proc 3 (printer) line 7 "PS2.prom” (state 3) [personB_printer?get]
12: proc 2 (personB) line 54 "PS2.prom" (state 3) [personB_printeriget]
13: proc 4 (scanner) line 22 "PS2.prom" (state 3) [personB_scanner?get]
Spin Trall ends after 13 Steps

#processes: 6

13: proc 5 (user) line 67 "PS2.prom" (state 3)

13: proc 4 (scanner) line 27 "PS2.prom" (state 11)

13: proc 3 (printer) line 11 "PS2.prom" (state 11)

13: proc 2 (personB) line 59 "PS2.prom” (state 11)

13: proc 1 (personA) line 37 "PS2.prom" (state 2)

13: proc 0 (:init:) line 86 "PS2.prom" (state 6) <valid end state>

6 processes created
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